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The ratio between two numbers is 7:11 and
their LCM is 154. The first number is -

1. <) If@maff @ erqura 7:11 2 3R SAHT g

TR 154 8 | ygell W@m § —

(A) 14
(C) 7

(B) 22
(D) 32

AT 14

In what time ¥ 1200 will become T 1344 at the
rate of 6% annual simple interest?

(A) 2 years (B) 3§years

(c) 2%vears (D) 3 Vears

If (x + i) = 2, then (x2 + %) is equal to -
(A) 4 (B) 5

© 2 (D) 6

The average age of 3 children of Arihant Singﬁ
is 12 years and ratio of their ages is 3:4:5. What
is the average age of the youn;gest and- eldest
child, if he had only three children?
(A) 9 (B) 21
(©) 8 (D) 12

»
i

L

If ‘a’ is the area of an equilateral triangle and
‘b’ is its height, then the value offg is -

A B) L
(A) 3 ()V,§

(©) V3 (D) %

In the given figure, O is the centre of the circle.
Find ZCBD.

(A) 130° (B) 140°
(©) 40° (D) 50°

© 7

(B) 22
(D) 32°

2. fraa 97a ¥ 12003, 6% ufd ab Gxal @At i

T I 1344 T B SATQIAT?

ﬁzaﬁ

) 31aq
(©) 214§ (D) 3
2 ) °
S oafy (x+)) =28 @ (2 +5) TR E -
(A) 4 (B) 5 '
_,(L{z (D) 6

4. gfRgg Riz @ 3 =i @ airwa g 12 99 &

iR ST ST BT U 3:4:5 | SHD TIAH
afs 9gd Haer da= o7
(A) 9 (B) 21

©) 8 SAPF12

5. gfe ys wHarg Brot &7 &F%d ‘@’ Tl S
A

b’ %’LH‘TL‘%WWH%—

A B) L
(A) 3 ()V!§
© 3 (D) L -

3
ﬁﬁa@i‘dﬁ,c;?ﬁr'w%a%.‘écsom
I | e

(A) 130° (B) 140°
(C) ap° . @F e

130-C ®

Page 2 of 16




p

7~ 16 persons reap 1/5™ field in 6 days.Howmany 7 1gaifin 6 f2t 4 1/5ai @@ @re = #) 8 i
persons (with same efficiency) are required to 5 viq o @1 dred @ forn faae @t (fEr
reap rest of the field in 8 days? zera & wry) @1 aazAdar 7 Ry
_r AL (A) 64 (Br48 My’ ™
(©) 27 (D) 54 - \%: 4 Y

8 In a triangl i o i ° o

triangle ABC, if ZA - /B =15°and 8 fpw ABC % ;X £A - £B = 15" ¥
4B-£C=30° then ZAisequalto- /B—/C=30°%, d1 LA TR & — '
(A) g5° (B) g E (A) 65° BT 80°
(&) Jge (D) gs° (C) 75° (D) g5°

% Two mobile phones were purchased at the .9 @ @ FA R &1 AdTEE I WG | T
same price. One was sold at a profit of 30% and — 36% & ST U AT AT SN gAY B 9AH
the second was sold at a price ‘which was T ' a
< 2500 less than the price at which the first was . S g -ZSDQ?W bk
sold. If the total profit earned on both the gfe QT Ararge B W Afia @er a9 5% 21,
mobile phones was 5%, what was the cost price ar U HiaEe B B AT God 74T 217
of one_mobile phone? é‘@mﬂ?‘l T Shr) Ramclasces |7
(A) T 4500 (B) ¥ 8000 (A) 4500% (B) 8000%

(©) T 5000 (D) ¥ 6000 (C) 5000% (D) 60003

10. Find the least number of six digits which is 10. & ajpi &1 98 B § BIET G G Difig

exactly divisible by 15, 21 and 28 - ST 15, 21 3R 28 § quia: AT BT — :
/) 100480 (B) 100270 (A) 100480 s (B) 100270 5 2321 7
(C) 100340 (D) 100380 (C) 100340 » (D)_}LOU_B_SO%

11. Rajeev earns 3/2 times in January, April, July 1. 3fig Sa9, S, SelTS 3fR efacax 4 a9 g4
and October than his average earning of ¥ 600 74T @ aifge 97 600 T qﬁ% BT 3/2
per month in the rest of the months. So his T T Gﬂﬂ%w\‘:ﬁaﬁ s, o SR
savings in January, April, July and October goes ST & Fad T Eﬁ 78T & 999 400 T
to 5/4 times than that ofrgst of the months, i.e P pe—— qﬁ:rr'
saving of T400 per month. The average | -

) 3frFd gg T 87 gUo
expenditure per month is - S
(A) ¥ 233.33 (B) 250 (A) 233.33% (B) 250% <
(C) 7 433.33 (D)  266.66 (C) 433.33% (D) 266.66 %

12. A train 100 m long passes a bridge at the rate 12. 100 Mex &d v ﬁﬂ_ﬁi—ﬁiéﬂ?: W
of 72 km/h in 25 seconds. The length of the Uh gel Bl 25 WhS H UR Sl B| gad @)
bridge is - aTs § —

(A) 400 metres (B) 200 metres (A) 400 Hrex 487 200 Hrex
(C) 150 metres (D) 300 metres (C) 150 #rex (D) 300 Hiex
Pége 3of16
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183, 8 angfa i, afe AB|ICD, T x4y g
PIRTT |

13. E A s
In the given figure, if AB| |CD, then find x+y.

(A) 60° . (B) 110° I,?E M 60° (B) 110°

(©) 100° ' (D) 125° o) (C) 100° (D) 125°

; - ) & g A =

14. A sum of money in 3 years becomes ¥ 1344 and gx.j 14. ue 71 3 9ui H 1344 %l STe] & IR 7 791
in 7 years it becomes ¥ 1536. What is the g; ¥ wE 1536 281 SIAT & | 98 Ho R HT 8 Fei

principal sum where simple rate of interest is G2 .
of ATEIROT @ &% WATRd @1 Sl 87

to be charged? 2
(A) ¥ 4000 (B) T 1200 (A) 4000% _ABT1200%
- (C) ¥ 2800 (D) ¥ 1500 o (€ 2800% (D) 1500%
151 3729 of a number is 45, then 87 2% of the 0 15 afy frch Wi @ 3729 45 %, W W@ W
: ]
number will be - s 0N 87%% BT — ™
i
(A) 135 (B) 145 | § E’E ey (M) 13s (B) 145
(C) 105 (D) 115 — & 05 (D) 115
16. Which of the following pairs have the same Sl = 16. ffaRag & @ 59 S & 9um wanE. (sl)
units? gpI3al B°
(A) Force and pressure (B) Work and energy E_?_ (A) g1 2R Gdrd 4 w1d AR St
(C) Momentum and (D) Force and distance g;’ (C) TRy iR Te (D) ge1 iR &
force ol )
17. Full form of ‘SONAR’ is - ' e R BT o7 /Y & —

CD (A Red &iin AfEeE ge Rad

(B) System in Navy And in Receivers S? (B) Rred 7 91 s 349 Rdlax

(C) sound Navigation And Ranging o7 aree AfaeE ge T

(D) Sound Navigation in Aircraft Range (D) |rEe A 37 WREWE I
18. oy T[oTich B foqmmd € —

(A) System of Navigation And Research

18. The dimensions of coefficient of friction are -

(A) Dimensionless (B) LT AR faeréE (B) LT
(C) LT? (D) MLT?2 (C) LT? (D) MLT?
130-C @ Page 4 of 16

.



19. Whe i
| When a gas is heated at constant pressure -

8 et v g o 0 o o
- ure will incr - o
(©) Baith temperattte andvalume . (A) GEHT AITART 9GS
(D) Neither pressure nor t lncreasleco i ol o 3 2rft
increase SMpELeture W*”"c::s (C) amHE 3R ST gl E[ﬁ“&'
20- Red colour in tomato is d ek i ?ﬁ p afr»z = & e E{%' 'E’\I"ﬁ
(&) Capsaicir ois Bue to - O 20. ewreR # ot ¥ frered RO BT 7
(©) Antho . (B) Lycopene o) (A) SR 42y Hﬁﬁ'ﬂq
21, Wik t(:-:p’rumln ‘ (D) Xanthophyll D (€) TeirTsR 'm),@m
Daltonlj;;ﬂ;en;ﬁ) is _fare correct regardingw=+ 21. greed @ oA figa & ey £*,r FIF AT/
(1) All matters :r eogl " ; G W E /T n s
s s diﬁz made of very tlny.pal‘”tic[es. o) (1) |4 L] E@ﬂ BIC &I T_@f-ﬂﬁf B !_
rent elements have differentf*- (1) R ot ® AR @ g iz
masses and chemical properties. g et o - 81 B
(Il) The relative number of atoms is variable incw] () fy oY Aifires ¥ uxATORRit @1 WATdeT e
any compound. e aRadeeier B 21
Eg; gnlv () and (i) (B) Only (1) and (1) gﬁé (A) Baat (1) Gﬁ*\’_(lllj %ﬂ?{l)&iﬁ‘(]])
nly () and (1) (B) All (1), (1) and (1)) (C) @aat (1) 3= (1) (@) =i (1), (1) AR (1)
22. Element having maximum electron affinity is - 22. yfdrepe geldgi- dEfar dTell ad & —
(A) Lithium (B) Lead - (A) fPrm (B) o
(C) caesium (D) Plutonium o Wﬁﬂ'{m (D) e aH
23."In which part of the eye lies the pigment thatg 23." 3ifg & fg WAT § vl € & S &ARe B
decides the colour of the eyes of a person? S;‘J aifEt &1 <1 iR evar 872
(A) Vitreous body (B) Iris ) (A) fagw d@fst (B) amzR¥
(C) Cornea (D) Choroid % pife (D) PRI
24. Which of the following pair (Disease-v= 24. f=fafad # A #1F A1 WG RET—F) Tad
Deficiency) is incorrect? 22 Swr) Romclagses (Vou Tidmg)
(A) pellagra — Vitamin Bz ?? (A) YemaT — faerfiq &,
(B) Marasmus — Protein and Carbohydrate ¢ (B) IRHE — AICH 2R FEEIESC
(C) Pernicious anaemia — Vitamin Biz ?Ej Jerame whieddl — faerfis 6,
(D) Hypokalemia — Calcium g; ' (D) ErgUfET — dfewrm
25. Spherical forms of rain drops is due to - ) 25 gui @l 48l &1 M &8 BT RO & —
(A) Gravitational force (B) Surface tension . (A) TEARYT 96 48] I T
(C) Air pressure (D) Density of water (C) grger | . (D) &t &1 g9ca
2. \Wwhich of the following is an example of 26 Fw=ifeiRed # & @i 79 &1 S § Hraifzgd
colloidal solution of liquid in solid? foers @1 SR 27 '
(A) Rubber (B) Milk (A) 393 (B) g1 -
(C) Shaving cream (D) Cheese C I (D) &y 5
27. Calorific value is in the order of - 27. S AM B HH H ® — ] L
(A) Fats > Carbohydrates > Proteins 9T > PERREST > m*a:{
(B) Carbohydrates > Fats > Proteins (B) ﬂﬂﬁ?@‘%ﬁ’ > T4 > WS
(C) Proteins > Carbohydrates > Fats () W > PrEfeESe > Tur
(D) Fats > Proteins > Carbohydrates 0) T4 > WEF > PRIy
30-C @ Page 5 of 16
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28,

s 4l CAIGEI

- The velocity of sound in moist air is more than 26. vy war if e W il h
in dry air because the moist air has - aifys v &, s =1 At ik
(A) less pressure than dry air. (A) Yprhs wdl « N el i} o GRS
(B) more pressure than dry air. (B) 9gtap vl &l ofed T if offcdes @419
(C) more density than dry air. }9)/?1‘4; gl ) gerir 3 et Heed |
(D) less density than dry air. (D) vjuhi i @l Tl i @ e |
29 Which one of the following phenomena cannot 29 fywiferférer 1 41 farar aiestr @l el & A
be attributed to the refraction of light? o forg forviare =il Suern ot b &7
(A) Mirage (B) Redshift (A) g ora fame
(C) Rainbow (D) Twinkling of stars (C) gawrpn (D) fercir?f 71 Tﬂmwrﬁ;
30. Which instrument is used to measure the  30- [a5ell argifer et ERT Feql YTl b1 AT B
intensity of light produced by an unknown W g @ w1 e @ feg fd SR
source in terms of a standard source? &1 ST far s 27
(A) Calipers (B) Ammeter (A) dferod (B) wirex
(€) Dynamometer (D) Photometer (C) gpFFifey oy
31. Which district has launched a special health 3. fay forg 3 St 2022 % uw fadg w@re)
care campaign 'Aanchal' in June 20227 Surel et afeer o fear 27
(A) Ajmer " (B) Karauli (A) arsmR %ﬁi T
(C) Dungarpur (D) Jodhpur: o TR (D) iz
32. Who is the Industries Minister in Rajasthan at 32 adp 4 Yoo 3 Senr @41 & 27
present?
(A) Vishvendra Slngh (B) Shak@mtala Rawat (A) fauiiz fiw WBF}EH‘E{T EICG|
Wraamanay: (R Ran (©) e < fEaE (D) T e e
Meghwal
33. Who was awarded by R.B.l. for writing books  33- &R, 1, &g, gRr GI%TUW/HFFTT/fTﬁT’J el
originally in Hindi on economics/ banking/ W @Y W el H A foras @ foro
financial issues? : qRRet febar T -
(A) Rajendra Chahar and Dr. Rajeev Saini () Torg 18R AR 2, Ioflg 90
(B) Shrishti Deshmukh and Shruti Sihag (B) Tﬂ'\? %{5‘]’3‘@' aire p(li:ﬂ fyanT
(C) Professor Renu Jatana and Dr. Sagar © ﬁTWi"?IG”IEFn P —
Saawariya ' ’ ¢ AR
(D) Manju Kumari and Dr. Radhika Bajaj (D) 5] BN 3R =, Tfere R
34 What is the place of Udaipur in the ranking of 34 afifer 2022 %, Wil 100 wré oy @ fer
100 smart cities released in April 20227 SGAGR Bl DI AT @ fiye 27
(A) First @ Third (A) T (B) dierer
(C) Fourth (D) second (C) =ien ARy ey
35 In which city was the Medifest 2022 exhibition 35 #f¥G%e 2022 yE3H i ArSE fag weR W
orgahized? . fopar Tar? :
(A) Jaipur (B) Bundi (A) STAYR (B) gy
(C) Kota ®) Jaisalmer yfﬂa (D) SHer
i —_—
130-C © Page 6 of 16



36

a7.

41.

]

38.

40.

130-C ©

At which place in Rajasthan ‘Suraksha Manthan

2022' was organized o
n the aspects
and coastal security? of border

(A) Sri Ganganagar
(C) Baran

(B) Bikaner
(D) Jodhpur
In which district 'Miyan Ka Bada' railway station

has been renamed as Mahesh Nagar Halt?
(A) Jodhpur (B) Bikaner

(C) Jaipur (D) Barmer
Chief Minister Ashok Gehlot inaugurated the

. Rajasthan  High Performance Sports and

Rehabilitation Centre in Jaipur at -
(A) Vidyadhar Nagar Stadium

(B) Railway Cricket Ground

(C) sawai Mansingh Stadium

* (P) Rajasthan University Stadium
39.

Which scheme has been launched by the

Rajasthan Government to provide financial,

nutritional and educational support to TB

patients?

(A) Chiranjeevi Health Insurance Scheme

(B) Rajasthan Nikshay Sambal Yojana

(C) Nishulk Nirogi Rajasthan Yojana

(D) Rajasthan Government Health Scheme

Which Ministry of Rajasthan launched Silicosis

Portal 2022 in May 20227

(A) Ministry of Disaster Management and
Relief

(B) Ministry of Health

(C) Ministry of Environment & Climate change

(D) Ministry  of Justice  and
Empowerment

Which (Geographical areas and districts) is not

Social

correctly matched?
(A) Bhorat Plateau — Chittorgarh and Bhilwara

(B) Kubad belt — Ajmer and Nagaur
(C) Uparmal Plateau — Bhilwara and

Chittorgarh
(D) Chhappan’s plain — Banswara and

Pratapgarh

36. gromerr  fpr et a¥ A 3R e Ren
\':‘ " i . . A
@, veepell WG 2022" @1 AT
fasar wram?
(A) TR (B) AT
(C) ari Mag? |

37. ﬁmﬁv@ﬁﬁwﬁr&i?ﬂm‘mﬁmaﬂ
1 wRY AR gfee &) faaAr T 27

(A) T (8} Sy
(C) sagY ﬂm@?ﬁ

38. Tl i TS A ST # T #

\ase

Wﬁfm# ‘*"M.‘ube
{A)meﬁ .S'Y\T"' RO\'Y‘"\
(B) Yo fipde 7SS H

ef waré wrRiE R A

(D) o gRaRiE wiam | -

(c)ﬁwﬁﬂiﬁwmm
(D) TSR WRER XaRed Al
4. 7F 2022 ¥ worem @ few Eed
Ry Uide 2022 &1 YHRA fdar?
(A) 3T e 3R ¥ET HA

B e HaAe
<¢;aﬁmeﬁ?mqﬁﬂﬂqw
B e =T fiRar HEe

. Preffaa % @ S @l o iR )

wE) gafera =€l 87
A IRTE 1 1eR — Rl 3R Aiearst

(B) Tag Ucel — PR AR AMR
(C) SIRHA &1 YoR — *ierarst Rk fRdiene

(D) BYF &1 HST — aiare] AR gaie

page 7 of 16
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42,

43.

44.

45.

46.

47.

48.

49.

130-

The pictures made in 'Pichwai' artefacts refer

to -

(A) the life of Lord Ram

(B) the life of Pandavas

(C) the life gfj-ord Krishna

(D) the life §f}ord Shiva

‘The festival@P Gangaur is celebrated on which

date? ol

(A) Posha S@(Ia (B) Magha Shukla
Tritiya ¢ Tritiya

(C) Chaitra Shukla (D) Falgun Shukla
Tritiya Tritiya

‘Munchala Mﬂhaui:’ Temple is located at -

(A) Ghanerge- (B) Menal

(C) Nakora 8 (D) Kiradu

Match the @__l:wing -
List—1 ¢ List —1I

(a) Wool M@ii (1) Kishangarh

(b) Marble Mandi (2) Bikaner

(c) Kanpur of Rajasthan (3) Bhilwara

(d) Garment City (4) Kota ﬁ

Code - o

(8) a-2,b-1064, d-3  (B) a-2, b-1, ¢-3, d-4

(©) a-4, b-agz, d-1 (D) a-1,b-2,¢c-3,d-4

Valaya ornamtent is worn in -

(A) Hands & (B) Head

() Neck &2 (D) Waist

In terms of water available the top two river

basins of Rajgsthan are -

(A) Banas apd;Luni (B) Mahi and Banas

(C) Chambadland Mahi (D) Chambal and Banas

Where \z\.ra\‘;a?—J the ‘Desh Hiteshini Sabha’

established far the purpose of social reform?

(A) .Udaipurch) (B) Ajmer

(©) Jaipur * (D) Shahpura

Between whom the Treaty of Purandar

(1665 AD) signed?

(A) Shivaji - Sawaj Jaisingh

(B) Shivaji - Raja Mansingh

(C) Shivaji —Bhagwant Das

(D) Shivaji — Mirza Raja Jaisingh

42. Rpard wargal § a1 o Sga &y mw
¥_
(A) Wi XM @ Sfad 4
(B) gigdi & ohad A
ﬁmﬂmwfﬁ'ﬁﬂﬂ:{@l
(D) s R & Sias A
43. iR @1 wdier fa fafd @1 7R S 2?

(A) Ty g g (B) wre el o
SO E gt el (D) BT A e
4. quern wedR’ AR Red & —
LEramRE (B) Tt
(C) TPreT (D) fipvTg
45. fam=ferRad &1 feg —
ar — 1 & — 1
(a) & HeEl (1) fpermTe
(b) HTHRFR HSl (2) fIFTR
(c) XTSRRI BT BHYR (3) HicTdreT.
(d) TRHE R (4) DreT

T~ Shy) Ram Classes You/ Tubse
a-2,b-1,¢c-4,d-3  (B) a-2,b-1,¢-3,d-4
(C) a-4,b-3,c-2,d-1 (D) a-1, b-2, c-3, d-4
46. gooraT AMEYT YEAT ST ¥ —
/%m’f H (B) Rx ==
(C) T # (D) 7R
47. Sl SUTEA @ MR UR IORAIH @ ST
g1 Afeal @ afm & —
AT R (B) W) aik g
(C) T iR A (D) Trae 3R g9
48. Ul GuR @ Jevd § v ANk g A
RITGAT Hal &l g off?
ﬂeﬂug?
(C) SR
9. ge=r 1 Y (1665 AD) fvrs wear g8 off?

(A) Rarsh — warg sl
(B) fRrarsil — <o "ERE
(C) Rl — wrdaem

Py Rarsh — Rl won srafie

c @

Page 8 of 16




50. To i . .
d whom the Ward Panch, Up-Sarpanch 50 yomerr i ard e, Ju—wRdd fdt T a%
address his/her resignation? areqT @A g/ &dt 27

::; E:OCk Development Officer Mm famrg fersrl &
2 Plllage Development Officer (B) e faerrr siferTdl B
radhan, Panchayat Samiti (C) g, dargd wfafa @1
(D) Sarpanch D) W i
31 Which of the following is NOT a function of the ~ 51. forferfae # W1 @i o1 o Fart 1
Municipal Body? & 872 shr) Ramn clagses
(A) Poverty alleviation (A) G IR ECIE] bLe _j’ﬁﬂ o0
(B) Excise control forr Nt 5
(C) Public health and sanitation (C) TFRARe Td AhTS -
(D) Fire fighting ' (D) a1ftTemA Sl!
52. Dharma stupa in Churu is also known as - 52. g% # i & BT g9 B H I ST ST & Fg
(A) Clock tower at Birla temple (A) fazar #fex &1 HemER 9 F
(B) Nihaal Tower (B) fAgTal TraR 5 -
(C) Lal Ghantaghar \y?ﬂa HETER =
(D) Vijay Stambh (D) faoTa @™ 0
53. Which one of the following (Ruler 53. fymfafRaa § @ (e Ruersll @ _‘qq%
contemporary to Alauddin Khilji - Place) is not 3
matched correctly? J ] e — ) Ffer .;;é‘[ & E_CPJ_
(A) Chittorgarh — Rawal Ratna Singh (A) fRriTeTe — Jad IaafE o
(B) Ranthambhore — Hammir Dev Chouhan (B) YuermiR — BRIR <4 HleM E-:r))
(C) Jodhpur — Veeram Dev ’ SRR — dRA <4 =
(D) Siwana — Shital Dev (D) Ryarom — e <4 o0
54. Badi Teej festival is celebrated in Rajasthan 54. o™ # 9 A @ TRR FART AT 8 %
on - @_Q_SSH o )
(A) Bhadra Krishna Tritiya A o g W N
(B) Shravan Krishna Tritiya (B) %1907 FHooT el @ Shr) Md%ﬁj )7
(C) Bhadrapada Shukla Tritiya T TS Yad AR 3P
(D) Chaitra Krishna Tritiya (D) == P A =
55. Where is the Som Kagdar Irrigation Project 35 Sroiver # W &reR Riwg R wet
located in Rajasthan? Rera 287 . -
(A) Bundi (B) Kota ' (A}_EE?[ (B) rer o ==
(C) Udaipur (D) Sirohi JSgeayR (D) =Y 8
56. For the help of which of the following states 56. &lell YT ¥ 1857 @ fAgle & SRA frw o N
Karauli sent its army during 1857 revolt? O eI &g ATHT [T A2 ;
(A) Jodhpur (B) Jaipur }M/m (B) SR %
(C) Mewar (D) Kota (C) Hare (D) wrer -
57. ‘Ranmal Chhand’ was composed by - 57. Rvme g @ @ s A
(A) Hemraj (B) Shreedhar (A) BRI BT e
(C) Dalpat . (D) Narpati Nath (©) goma (D) =Rufy =rs
130-C O) Page 9 of 16




58. fyeifeifaa (dve IEmT—YeIT) q A B
qll‘ff?vl"{ T8l 27 ‘
£f e @ge Wi — Mer
(B) =) e — @R
GO rem Wire — EIEC
(D) o). @, e — FramsT
50, Py 3 Q Fpaep! et A BT 17

BT )

IR (B) W 17Te
(C) WG (D) 37T
60. grvqx Td aierarel & # drefl S darell it
g_
(A) AT BTl
(C) AR (D) FaTS!
61. Prfoied & § @I W (AHedl — ¥©IF)
ufora =&t €7

() rrnigy Shyt Ram clastes |]
Sfieren g, o T T
AB) o A — s

(©) Rrem 2@ — MR Telegram
(D) Zfemfy 7rem — Mo HIAIG

62. o ¥, ORI Yferd STl HEl (R
74
(A) 3TAR (B) SIagR

_ABF R (D) Prer

63. THaRYTeR e T & —
LT TN TET 3 (B) Serer WRIER @)
(C) =1 der @Y (D) fAeA1g ™Iery ¥

64. TRl AT &1 A O A ¥ frw e o
Imaifra fargr i 27

(A) YRR BT AR

(C) ari (D) 7T ARENQR
65. fy=fafad & & @9 |1 Wrer Torg 22
(A) wgfRar |l — (B) et — SR

HIeT
(C) AR @Y -
i ,%ﬁ?ﬂ SR

66. o H ARfeRM & wiRg Searew R § -
(A) <terr 3 T AR

(B) AT 3R I

£ AR SR SEagR

(D) SR iR iR

58. Which one of the following (Cement industry-
Place) is not correctly matched?
(A) Birla White Cement — Gotan
(B) Shree Cement — Beawar
(C) Mangalam Cement — Morak
(D) j.K. Cement — Nimbahera
59. Koshvardhan was the original name of -
(A) Shergarh (B) Bhangarh
(C) mMangarh (D) Ramgarh
60. The dialect spoken in Dungarpur and Banswara
area is known as -
(A) Malwi (B) Wagdi
(C) Marwari (D) Mewari
61. Which one of the following (Lok Devi - Place) is
not matched correctly?
(A) Shitala mata — Chaksu '
(B) Aai mata - Osian ﬁ
(C) Shila devi— Amer
(D) Dadhimati mata — Goth Manglod
62. Where is ‘Rajasthan Police Academy’ situated
in Rajasthan?
(A) Ajmer (B) Jaipur
(C) Jodhpur (D) Kota
63. Katriyasar is the chief seat of -
(A) Jasnathi sect (B) Laldasi sect
(C) Dadu Panth (D) Vishnoi sect
64. padhimati Mata fair is held in which of the
following district?
(A) Dungarpur (B) Nagaur
(C) Baran (D) Sawai madhopur
85. Which of the following pairs is incorrect?
(A) Masuriya Saree— (B) Namda - Jodhpur
Kota
(C) Marble carving - (D) Baadla - Jaipur
Tonk
66. The major Beryllium producing districts in
Rajasthan are -
(A) Dausa and Sawai Madhopur
(B) Baran and Karauli
(C) Jaipur and Udaipur
(D) Jodhpur and Nagaur
130-C @
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67.

68.

69.

70.

71

72.

130-C @

Which one of the following statements is not
true about Berach river?

(A) Gambhiri and Orai are its tributaries.

(B) It meets Banas near Gulabpura (Bhalwara)
(©) It originates from Gogunda hills.

(D) 1t belongs to Ganga river basin.

In how many phases was the integration of
Rajasthan done?

(A) Seven (B) six

(©) Four (D) Five

Which of the fo1|owmg Chhatri is not located in

Jodhpur?

(A) 8 Pillar Chhatri

(€) Mama Bhanja ki
Chhatri

Where is Kaka Ji ki Bawri located in Rajasthan?"

(A) sikar ~ (B) Dausa |

(C) Bundi (D) udaipur

The row of seven fire altars (Vedika) has been

found at -

(B) Mandore ki Chhatri
(D) Jaswant Thada

(A) Ganeshwar (B) Kalibanga

(C) Bairath (D) Ahar

Which of the following statements is/are

correct with regard to ratio of women per 1000

males as per 2011 census in Rajasthan?

(i) General gender ratio in all districts remained
lower to 1000.

(ii) General gender ratio in Rajasthan was lower
to national average.

(iii) General gender ratio in urban areas of all
districts (except Dholpur) remained lower
to 1000. -

(iv) General gender ratio in rural areas of all
districts (except Pali) remained lower to
1000.

Code -

(A) i, i, iv

(C) i, ii, iii, iv

(B) i, i, fii
(D) ii, iii, iv

i

67, PrefeiRad A A B W HUF 4% AL D H

W T e 82
(A)mﬂﬂaﬁiaﬁ?@sﬂﬂﬁwﬁ%'

BriE T frerare) @ e @ 4
%l

(c)mmwﬁ'gﬁﬁmﬁﬁgﬁ%\'
(D) 7 Ty 7€) ARy B siata AR B

68. TGRRN &1 TeHTepRor fohe a=vil ¥ g3’
‘) Romny clagses Q‘{ou\*uJoe)

qrd (B) ©:
(C) TR (D) dfg

69. whwerge i For ¥ & BT ol Rer 7 &7

ﬁgwaﬁwﬁ (B) 7SR BT B
(C) =T Ao @ wa (D) SHaT U1

70. gyt o Y AL SR # et Rer 87

(C) g (D) Seaqx

7. @ ity ARGEi @ Ul wa g8 § —

Sh') Ram dasse ST
(A) TORER |

(©) R® A (D) aTEe ¥
72. g W 2011 @ SEOET $ AR W
1000 godt W wfeensl & U & wee A
Preforied § § P w1 Fer W & /8
ﬁﬂlﬁﬁiﬁﬁﬂmﬁm@ﬂmmooﬁm
Vel |
du}ﬂwﬁmmwm%
B o |
(i) it vt (TR 1 Brewy) & vl
# g ol QU 1000 ¥ &H RET |
A f el # (el B Brewy) & AT A
% | fofT SrUTd 1000 R PH <@

e - | o
-dﬁﬁ i, iv (B) i, ii, i T
(C) i, ii, i, iv (D) i, i, iv
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S

T3 Which of the following pairs  (Peasant
Movement-Leaders) is not correctly matched?
(A) Bundi - Nayanuram Sharma
(B) Begun - Magharam Vaid
(€) Meo - Yaseen Khan

3. fyfal A Q wyn o (Gua Qe -

aln) ynferer =l &2 Rsj Gk 5 -PF"ﬂ
(A) =g o g EJ._‘T}’
S da R &W

€O (O -l il gy pam classes|
(D) Bijolia - Vijay Singh Pathik LS () Reifrn-Rom Rig 1l
7. Which one of the following woman did not go g“- RS AW & SRE =l & @ @
to jailin the freedom struggle? v TfRen W e g
(A) Anjana Devi (B) Ratna Shastri g (A) 3iFT ) (B) il ATl
(C) Narayani Devi (D) Kali Bai S_E' (C) IRy <) Byl e
. 15 Read the following statements - 5. fawmfoe el @) ufew -
(i) Viratnagar previously known as Bairath is a (i) R R qget Wre & AW W ST SR
town in Jodhpur. ﬁ off, SRR P UH R 2
(ii) Bairath was a part of Mauryan Empire. 0O (i) R1e, A ey @ R ol
3\)005& the correct code - 8 Hﬁé‘; ?\[ﬁ:ﬁ;% %h y) Ram classes
Only (i) is true R Y (A) & ()
(B) Only (ii) is true o g (B) maet (ji) el ® \<°w\ul°ﬂ.___
(C) Neither (i) nor (ii) is true f_? (C) = &Y (i) = & (i) weY &
(D) Both the statements are true Q! BT W E
76. Where is NathuRam Poddar’s Haveli located in G376 FTRRM WER @ gae, YAEre) § el R &
Shekhawati? th
(A) Mahansar (B) Nawalgarh E:?.I (A) TET TASTE
(C) Mandawa (D) Bissau = (C) wvemE () farres
7. In which of the following forts is the tomb of g;.:;)??‘ ! W7 g @ e B A S R T
Sufi Saint Mitthe Shah situated? Sg 3 Reyq 87
(A) Kumbhalgarh (B) Gagron (A) FerTe Aﬁ RN
(C) Nahargarh (D) Chittorgarh o (C) ArEvTe (D) fosieTe
8. Read the following statement about Vijay 78 ‘Rwm W™y @ T IR wE 7
Stambha’ - ' 8 ufey ~
(i) It is a nine story tower. N (i) T8 A AT s R
(ii) Mandan was its main architect. E (if) 7UST SHPT &I IRGHR o |
Choose the correct code - Q W& ae g -
(A) Only (i) is true S—j— /ﬁ I (i) 9L §
(B) Only (i) is true (B) dae (ji) we) &
(C) Neither (i) nor (i) is true () F A (i) & (i) v ¥
(D) Both the statements are true (D) T por u) §
7. Who defeated the giant army of British and 79 1857 @1 it #, Sl Td WIR X1 )
Jodhpur state in the Revolution of 1857? [ e i fvar o
(A) Thakur Kushal ~ (B) TatyaTo e ' 2 N
— ya Top SR el i Y (B) e A0 A
(C) Rawat Keshari (D) Jayadayal (C) T B Rig Y (D) sy A
Singh
130-C © -
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80 “"‘"hifh of the following statements is/are true
in relation to “Kachchhi Ghodi” dance?
1. Itis mostly performed by women.
2. It originated in the Shekhawati region of L0 S AT T TR d

Rajasthan., 2. E TORAF B IE@Ere) & ARFT g
3. fve: fiare & ageR W fFar o 2|

4. 9% T AEWE & AEAHTE § FH A A

80. el W g & wed W BERI /-

BT A 87

3. It is mostly performed at the occasion of
Marriage,

4.1t started during the reign of Shahjahan.

Choose the correct code - 0O ki e I -
(A) 3 and 4 (B) 2 and 3 & (A) 334 /mfzsﬁqa
©) 1and 4 (D) 1and 2 % (€) 13R4 > (D) 13k 2. .
81. Choose the correct descending order of heights(\:‘;’ 81. PrefRea udat @ SEmgdl o1 WE ARIE B
of the following mountains — {;C\:% FMT —
(A) Khoh, Achalgarh, Ser Peak, Taragarh L (A) @E, IEerTe, WX 4P, TRITS
(B) Achalgarh, Khoh, Taragarh, Ser Peak ' (B) sraerTe, WiE, ARTIE, ¥ 4%
(C) Taragarh, Khoh, Achalgarh, Ser Peak ?3 () ARTTE, &g, TG, T W
(D) Ser Peak, Achalgarh, Khoh, Taragarh g . /Q,W@'{ Iﬁ?ﬁ 3EeliTe, @rE, RIS
82.

As per administrative report 202021 of thex— 82 g fammT o emafe RO 2020-21 % ITAR
forest department the total forest area ing ST &1 e a1 CER

" s cv') ‘UU'F
Rajasthan is 31 “Telegyom

(A) 32,737 square kms 45y32,737 T AL E ‘

(B) 32,863 square kms ?9_ ®) 32,8637 A @ Shaj Ramelases )
(C) 33,340 square kms t‘(__:"g (©) 33,340 7 fH AL

(D) 31,845 square kms ™ (D) 31,845 a7 fab. 1.

83. |n which Battle did Maharana Sanga defeatg 83. wern @i A 5w gg H-IR Eﬁ{ [T Bl
Babur's army? - F:-B BIAT? _
(A) Battle of Bayana  (B) Battle of Ghaghara MW @ oo (B) UTERT B WS
(C) Battle of Panipat- | (D) Battle of Khanwa o0 (©) TFiTe -1 9 wreiE (D) @A @ a8l
"84, The place Kolu village is associated with which% 84. iy T 5 Wi <ad ¥ Gt 27

folk deity? ' g
(A) Devnarayana ji (B) Tallinath ji g; (A) Sg=RrEeT Sl (B) Teoti=TT Sl
(C) Ramdeo ji (D) Pabuji = (C) ¥ ot | B gt
85. The President’s rule was implemented seconds==- 85. oY Ud H U 4R XISy IR @)
time in Rajasthan statein— fapam T o1 —
(A) 1980 (B) 1992 (M) 1980 (B) 1992 ¥
(C) 1977 (0) 1967 A& 1977 % (D) 1967
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86.

87,

88.

89.

90.

a1.

92.

93.

Who was the ruler of Sirohl at the time of the

Battle of Dattani?

(A) Maharao Surtan  (B) Maharav Vijay
Singh

(€) Amar Singh Rathod (D) Rao Karan Singh -

Where is Gopichand Cave located in Rajasthan?

(A) Mount Abu (B) Jhalawar

(C) Jaipur (D) Tonk:

The first conservation reserve for Bear in

Rajasthan is -

(A) Talchapar

(C) sundha Mata

(B) Bandh Baretha

(D) Kanak Sagar

On 30" March 1949, greater Rajasthan was

inaugurated by - ' :

(A) v.P. Menon (B) Sardar Vallabh Bhai
Patel

(C) N.V. Gadgil (D) Jawahar lal Nehru

Who laid the foundation of Chittorgarh fort?

(A) Maharaja Rai Singh (B) Jayant Chauhan

(C) Chitrangada Mori (D) Sawai Jai Singh

In which of the following districts the sub

humid climate is found in Rajasthan?

(A) Ganganagar, Hanumangarh, Sikar, Churu

(B) Udaipur,
Chittorgarh

Rajsamand, Pratapgarh,

musical

(C) Kota, Baran, Bundi, Jhalawar
(D) Jaipur, Ajmer, Alwar, Tonk
Manjira,

Tanpura, Chautara

instruments are used in which of the following
dances?

(A) Terahtali Dance  (B) Walar Dance
(C) GavariDance . (D) Ghoomar Dance
Which Fort amongst the following comes in the
category of Desert Fort?

(A) Mehrangarh (B) Gagron

(D) Nahargarh

130-C ©

(C) Junagarh

e

86, wcyef) b g b v RIS BT IH o —

Mrmm v

(©) ank Rig WIS

(B) MERIA fasmRig

(D) ¥ %Y Rig

"87. w@lﬂﬁvﬁtﬁ’rﬁﬂwzﬁﬁﬁwa?

e o () W
(©) s (D) Ti®
88. orelTT T WEGH e, AR § —

(A) TABIIR (B) der XS
A e AT (D) HF AR

89. 30 #rd 1949 HI e VIS DT IFHIEH
o fr? Qs Rom eAagged ]
A) . oy, A= ) WRER qewTd H1g
”.{ﬁ ﬁqﬁa
(€) v, &, mefrer (D) STATER N Ew

0. fRrireme gif & wWeeMTd HIF 97
(A) meron RiE  (B) Sd IS
B e Any (D) warg WA

9. frfRae 3 @ oM @ f et S
3gt Srerary arl Sl 27
(A) TR, &AMTG, AR, g5
-(B)W,W,mﬁﬁm
(C) rer, ari, g2, 3meraTs

MBS, 3SR, AR, S

92. Wi, AFgYn, WeRT g g @ wan
aenforfaa f s o v omar 22

P Reared e (B) aTeR e
(C) Ty T (D) PR T

93. fr=faad # ¥ B W fbar o fie
B 2ol # armer 82

(A) WERFTIG
(C) SFITTE

ABT IR
(D) seve
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94. Which of following is known as ‘Tajmahal of
Marwar’?
(A) Lalgarh Palace (B) Jaswant Thada
(C) Jagmandir Palace (D) Bada Bagh
95. Which of the following (Cattle fair and Place) is
not correctly matched?
(A) Veer Tejaji Cattle Fair — Parbatsar
(B) Mallinath Cattle Fair - Tilwara
(C) Jaswant Cattle Fair - Karauli
(D) Gomati Sagar Cattle Fair — Jhalawar
Who was the Maharao of Kota at the time of
treaty with the British in December, 1817?
A) Ummed Singh | (B) Ram Singh II
(C) Kishor Singh (D) Ram Singh |

9_7- Match the following —

96.

(a) Chari Dance (1) Kalbelia
(b) Ranbaja Dance  (2) Mev
(c) Shankaria Dance  (3) Guijjar
(d) Chakri Dance (4) Kanjar

Choose the correct code -

(A) (a)~(4), (b)—(2), (c)-(2), (d)~(3)

(B) (a)~(3), (b)~(2), (c)~(1), (d)~(4)

© (a)—1), (b)—(2), (c)}~(3), (d)—(4)

(@) (a)—(2); (b)-(3), (c)~(1), (d)—(4)
98. Indoni folk song is sung -

- (A) by females at birth of a son
(B) during marriage ceremony
(C) by the ladies while going to fetch water

* from the well
(D) by wife at husband’s death

99. \What was 'Daamani' in Marwar?
(A) A revenue tax (B) A type of Jewellery
(C) A type of Odhani (D) A Government

policy
100. Where was the Bhawani Natyashala
established in 1921 AD?
(A) Jhalawar (B) Jaipur
(C) Jaisalmer (D) Ajmer

94,

835.

far= 9 fan Agrs Fl © AU HEl AT
44

(A) wrerTme qed A A7)

(C) srmifaR #Ee (D) 71 AT

ffafaa 4 97 B Al (“l{'—'f‘]'q??{ 2T? 7T T
e 7 27

(A) g= AT C[:T’I—ﬂ UEC G EEEd

(B) Hf?FﬂZr q;ip'rc?ﬂ ﬁ’f_ff?fr'“’T

: (D)#rqf‘"ﬂvmwm~m’ﬂ"f

96.

a7.

g8.

fearaR 1817 4 U<l @ A4 53 % 753 Fiel
& HBWIG B 4?
ﬁaﬁaﬁtﬁ; I (B) =5z 1l
(C) fiz fHiE (D) ZHEE |1 .
gafaa sy —
(a) = I (1) w—m"*".xr )
(b) RoMETSll 34 (2) &9 c
(c) TBRAT FeA (3) ToiX G
(d) TP JeA  (4) DO T ‘
wEl Fe gy — =
(A) (a)—(4), (b)—(2), (c}-(2), (d}H3) ¢
ABT (a)-(3), (b)—(2), (<)1), (d)—4)
(©) (a)~(1), (b)(2), (c}H3), (d)}—4)
(D) (a)—(2), (b}(3), (c)—(1), (d}—4)
M @@ I T ST 8 — _
(A) ¢ & 9 ® T9g Fieans 190
(B) fagre ¥9RE & S
oy ufEesii gR1 B¢ & or 3% W wea
(D) 9 &1 Jg W 9= BN

99. HRare ¥ TEOlr T o9 ?

(A) T oG X (B) U TR @1 &
SEr3iel &1 & TR (D) Us TR areE

L L

100. 1921 €. % *arft AeaTeT B wenfig F wE

ofy?
- greETs (B) SR
(C) SrFerR (D) 3o
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